


A spents 65% of his income. His

q income is increased by 20.1% and
7 the expenditure is increased by

/—-N 20%. By what per cent (correct to
0% one decimal place) does his saving

increase or decrease?

AM&@WGS% @ﬂq&?ﬁgﬁ%&

: 9D AT ¥ 20.1% Bl

_;[-""l IR = § 20% B gy A B
SU®! 99d fha+ ufava (& q¥ried
©IF d@ gel) dedl I1 gcdl 87

(a) Decrease by 17.7%

\_/(];chrease by 20.3%

(c) Increase by 21.5%
(d) Decrease by 18.9%



A man sold two chairs for Rs. @
Cﬂ 33 O each, gainin@o on one and losing
20% on the other. Had he sold the

CFZ- —> YIS X :% two chairs for Rs. 575 each, what

} A; would have been his gain/loss
S99

1_§ percentage (rounded off to the
nearest integer)?

Sﬂ-=-SP,_=§?S‘ 13- U& 3reHl 4 <l HRIAT yd® &I 475

a2 94 H d9di| U U 25% DI oTH
IR TEY U 20% DI BT 8% | I9+
\\So At BRI s 575 vw F A A

gidl, Ol Sa&T orH /s gfasa @
"I-\:K'QY QQQ‘,_ g (FMecaq yoris _aa qorifpag)?

%34 S‘ (a) 45% gain

(c) 41% gain (d) 25% loss




A dealer professes to sell his goods
at a loss of 16%, but weight 750 gm
in place of a kg weight. Find his
total profit percentage.

1\
H-—\Mx%ﬁf 3 W@quﬁalﬁ AT Dl 16% DI
T =N yifT ) d°9 &1 @1 dxar 2, Afe

3}’5‘0’ W%Bﬁmem$wmw7so

25 UM q9q $l diddl 2| SHBI &
STd DY |

(b) 11 percent

12 @cent

(c) 14 percent (




In the following figure, P and Q are
centres of two circles. The circles
are intersecting at points A and B.
PA produced on both the sides
meets the circles at C and D. If

ZCPB = 100°, then find the value of
Ry ——
fr=tferaa amafa o, P 3k Q <1 g<il
®» »% ©l 9d, fdg A 3R B W
yfaeee &) @ = | il AR d PA
&l 9¢11 U¥, 98 g« ¥ C 3R D W
oY 21 afe «cpB = 100° 8, dl x
&1 919 ST DIY |

(a) 110 \4()100

(c) 115 (d) 120




%\{% If sec29+tan29=3%, 0° < 6 < 90°

then (cos® + sin@) is equal to

v

B sec’0 +tan’0 =3~ , O° :
H"S 1 IfS sec’@+t 6=3_, 0° <8< 90°,
’_/éz_" -—i dl (cos® +sin®) fhdd TR 27
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N
. In a ling ace _1290 m, Salonj
begtShweta by £0 Jo while Shweta

peat_ Sonam by 150 m. By how many
metres does Saloni beat Sonam, in
the same race?

1000 Hicx &1 INgG®d cIs # Al A
sddr b 100 Hex @ AT, Widfd
sgqdr | AIFH Bl 150 HeX ¥ BT
sl gt A waif, @ 1 fead
Hlex | sl 87

(a) 200 m (b) 250 m
(c)225m | 4d) 235 m @




. Four prime numbers are arranged
in ascending order. The product of

I ﬂ: I” lv the first three numbers is 255 and

that of the last three is_1955. The

X‘S %'1 largest prime number is:
AR umber is: 73
AR TSI A0 IRIEr Ha |
Fgafkerd 2| Ugoll ol 9&gIsi &1

/‘\(\ TUEHd 255 © 3R 3fam dF B

83_7(( ) = HS( %UFFITS 955 B | HEd dsl IHSY
{0 ?55%'_%_\" (b)E1
¢




A hemispherical depression of
diameter 4 cm is cut out from each
face of a cubical block of sides 10
cm. Find the surface area of the
remaining solid (in cm?). (Use n =
22/7)

10 91 Y3l didd U 99 IdR WS
D UdPD Boadd 4 4 GHl AH T (S
anﬁﬁaum»a HEAT &ICT ol 2| 99

(e mﬂau ) e aary e oty M

LART O @ o007 prérs \
60%_9\,"!'}& o= (c) 112$ (d) 713— %\’%
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The circumference of the base of a
right circular cylinder is 62.8 cm
and its volume is 8792 cm3. What is

the curved surface area (in rm?) of
the cylinder?((Take = = 3 14)/ >

U6 oF gl add @ IAER @)
wﬁfﬁrsz.sﬁﬁﬁmmm
8792 |H 7| ddd @

lﬁm (G 9) a'm%‘?(n=314

a) 1695.6 u&éﬂ @
""62 (c) 1632.8  (d) 1570.2

B H SRR



A boy travelled from the home to
the college at the rate of 35 km/h
S 3( 3 and walked back at the rate of 3

km/h. If the whole journey took 6 h
3 3{ 30 min, then the distance of the
college from the home (correct to 2

————
\/ decimal Elaces! is:

3 Ud dsdl BX ¥§ dido dd 35
33_9]2 Rl /sier @ Ry @ A e 2

| > 13 IR ama 3 fef/ger A wfy Q@
Q\% arar = Ife &t =T 4 6 €S 30

\#9  fire @ ¥ @ R @ Pictol Bl g3
—'375?.’1(323[55; (2 TIHMd I dd W) @

9"6 & (2)18.01km  (b) 17.58 km @
% (c) 17.25 km \(3)'17.96 km




Aman, Ram and Kapil can
complete a work in 68 days, 51

é ’5../ days, and 17 days respectively. If
? they work on alternate days such

Sl QOU[ \1 \/ that Aman works on first day, Ram

works on second day, Kapil works
)?_ TZ—- on third day and then again Aman

- works on fourth day and so on, then
| k_\’\o\/x 2 clgfind the approximate number of
< days in which 50% of the work is

' d 0\ g completed.
d I, YW IR DfUd (b A @l
_I‘ bl HHe: 68 a1, 51 fas1 3k 17 a1 4
J-:I'd |02 T B 9dd & | Ifq 4 drax o=l
i 5 H 39 yoR s &vd B & e



(a) 19 days (b) 16 days
(c) 1Fdays  (d) 18 days
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With a 10% discount on the
marked price, a seller earns a 5%

profit. If the marked price is
increased by 5% ynd two successive
discounts ok 5%/ each are offered,

how much percentias afit does
the seller earl:l"

Jfbd oI W 10% B 71 W T
famdar 5% &1 @ sfsfa wxar 2|
gfe 3ifed youa 4 5% &1 gfg @l
Sl 8 3R 5% UA®d &1 < HAN
%ﬁ & ot €, o faswar &l feas

&T o9 Bidr 27

:?-?)Q-&SQS" \ml/&s'% (b) 10%

(c) 11% (d) 11.5%



A poster is on top of a building. A
person is standing on the ground at
a distance of 50 m from the
building. The angles of elevation to
the top of the poster and bottom of

the poste ke 45° _and 30°,
respective y waat i 200%) of the

height (in m) of the pbster

Uh SHRd & HU UP YIveX ol @ |
Us Afth 3IRd ¥ 50 Hiex &1 §h
WR OHF R EsT 8| Ui & Iy
IR G & AER & I~ DI
$HHI: 45° IR 30° B TIwR DI
SHars (Hex #) &1 200% T %‘?@)

(a) —(3 B)  (b) 2(3-43)

(©) 3 E-3) \(@) *2>3-8)



There are 90 female members and
60 male members in a club. If the
averge age of female members is 35
years, and the average age of male
members is 45 years, then find the
average age (in years) of the whole
club?

U dold H 90 #Afgdr Hawd 3R 60
UoY UeH @ | Afe Afger gl @l
Jd 3R 35 99 B, IR YO "ol
&1 3Mud 3R 45 a9 B, A9 YR T4
(@9l #) Sird dIfg?

&I 3ad
(441 39 (b) 36

(c) 40 (d) 47



Find the difference between the

greatest and the smallest 4-digit
) 0)9‘0‘ 9 b mslmbers exactly divisible by 36 and
1Y __3L,H§

‘EQ’
36 30X 48 9 Yuia: faursy wed 99l
q é IR ged BICT 4 BT AR B

o did AR ST BIIT |
\\N 100 (a) 8928~  (b).8892 X
c) 8298 X
__% (c) 8298 X (d) 8382 ()&

Y @ 0\%%&@




If 2305 + 303 is divided by 9, then
the remainder is:

2\l o gfe 2°° + 303 &1 9 9 fawrfora fean
(Q) X2 +303 g a vvea
d 2 b) 4
el qu( 30 a' o



A company charges 10% per
annum compound interest on loan.
A sum of Rs. 2,20,000 is given by
the company for a period of 2 years.
The company compounded the
interest every six months instead of
every year. How much money would
have been saved by the borrower. If
the company compounded the
interest annually (rounded up to one
decimal place)?

Uh B R R 10% a® awqfy
T odl 21 2,20,000 394 DI R
HUI DI AR 9 2 AT Bl A B



forr fer o 1 U & & =
ATl @ 9ol &% B8 #ed | derd!
off | ol o dret @1 fhawm 4T 99
T g gfe sul affe wu 9@

LRV vl ahgfe Bl 2 (Wb qud

I db YUTifdhed)?
( (a) Rs. 1,211.40 l) W@{a‘
(b) Rs. 1,412. 20/@
(c) Rs. 1,312.20
ﬁ%ﬂs (d) Rs. 1,111.40
O H 3RS Y T RTYQR



AB is a chord of a circle with
centre O, while PAQ is the tangent
at A. R is a point on the minor arc

AB. If ZBAQ = 70° then find the
measure of ZARB.

AB % O dldl 9 @1 Sfidl 2, Wdfd

PAQ, A WX W3 &I 2| R oY 9

AB R (& fdg = | afc «BAQ = 70°

2, 1 ZARB &1 919 STd I |
Aaf TTO° (b) 125°

(c) 70° (d) 145°




The area of a cardboard (in cm?)
needed-te-make a closed box of size
20 cm x 10 cm x 8 cm will be:

20 97t x 10 |9 x 8 9H PR B

U$h d¢ died &l §99 @& foIv
/Q(@g+gm> JEWD Th T & 9% (@H° #)

BIIT:
__Aey88D (b) 690
(c) 750 (d) 960

G



Out of 10 persons, 9 persons spent
,S ] Rs. 15 each on their breakfast. The

,'6)( 0 tenth person spent@ore than
—the average expenditure of all of
ﬂ em. The total amount spent by all
of them is:
G_ m/\ 10 gfpal 4 4 ydd 9 Afhal
7(49 15 %. A1ed W @d f&y| gad aafp
4 97 9l @ lud @d 4 9 vud
wael @d &g | 991 9 gR1 @d @l

TI? Dl R 28:
(a) Rs. 144 (b) Rs. 135

(c) Rs. 10 U Rs. 160




A bus can run 20% faster than a
bike. Both start from the same place

at the same time__and reach the

-—-"'—P-_
same destinati y at the

same time. On the way, however,

the bus stops at the stations @
minutes. The speed of the bike is:

Udh 99 d15d 9 20% dol dd dddl
2| Il Udh 8 99T ¥ UP Bl I
9 g% Bld 2 3R Uh & 999 H 60
fofl g3 g & Tasw R ugdd @ |
HENED g9 WIFE R 10
fiie @ foru | 913® DI T

B
\Jm(km/h (b) 70 km/h

(c) 55 km/h (d) 65 km/h



Anup can row 33 km downstream

Dm and 35 km upstream in 8 hours. He

% 3 can also row 44 km downstream and

_"3} g- 28 km upstream in the same time.

H/ \’\I How much time (in hours) will he

take to row 55 km downstream and
ik L’U’ ZB eam?

v srma%aﬁi,asassﬁﬁrahm
@ vfdehe 35 fodl &1 &t 8 a2 #
maﬂmﬁn%‘lﬁmﬁwﬁ'

a]iﬂ\
dfdahe 28 fHHT 1 g a7 B Fddr
2] 98 g1 @& 3{dhd 55 fHHl 3R
gRT & Ufaad 14 & a1 <O ay
& A fhaqar a5 (gt |) e
(a) 9 (b) 6

(c) 8 a7




i e .
3cos=3,g <9<99,

then the value of (sec?0 + cot? ) is
Ife 2sin20 + 3cosh = 3, 0° < § < 90°,
a4 (sec?d + cot? ) AT &:

(2) 37 (b) 33

L Y+l
5

(d 4,




A company offers three types of
; didcounts. First offer

. ’)‘L 5% and 5%. Se¢ #Fer 20% and
N’X‘)‘M = W -G 0% rfd_offer; 15% and 15%.
'e,o Which offer is the or a

customer?
.—————-‘"_-—-—-—-\
%bm U YN A FBR B BAe B
—_— USTH $xcdl | g8l JHTBR 25% 3R

5% | GO 3BT 20% 3R 10% |

W““j 137‘ © AR SR, 15% 3R 15% | UTED B
@cgﬁ’ <é forg @19 41 JATHY Wa BT 87

(a) All are equally good

(b) Third offer Q
d (_/{-c‘)ﬁ'st offer

(d) Second offer



A number is increased by 30% and
then again increased by 30%. By

what percentage should the
increased number be reduced so as

to get back the original number?

Uh A& A 30% & gfg @ Wl 2
MY R 30% @ gfg @ wrht 2|

o @ 999 9+ & fay 9 g9
H@naﬁ &9 fHar ST

Mz% (b) 48.20%

(c) 42.80%  (d) 38.28%



A sum of Rs. 10,500 deposited 2
years ago, compounded annually,
with the rate of interest 10% per
annum during the first year, and
12% per annum during the second

‘OW“G’)\Xl IQ/ year, will amount to :

10,500 U4 BI R 2 ATl Ugad AT

) B TS, B 98 d <RE 10% ufd

' a9 3R WX af & TRE 12% ufd

lggxugxgi‘:aﬁfaﬁmﬂa%wamﬁmmﬁ
10 X G 33 w NPy

T g/‘() @ Rs. 13,937 (b) Rs.f\,g/QL/
X) Rs. 12,795 (4 Rs./égg/(




If a shopkeeper mixes two types of
pulse > BO\Per kg and Rs.

95 "per kg, in the ratio 2 :(3,)then
what is the average cost of the
mixture?

Ife dly gHMER & YdR DI <ol
80 ¥ud ufd feel AR 95 vud ufd
fouT @ 2 : 3 & Iqura ¥ fyamar 2,
al fsror &Y sita @eTa T /87

(a) Rs. 87 per kg
(b) Rs. 91 per kg

\)V(BQ per kg

(d) Rs. 90 per kg



. In APQR, S is a point on the side
OR such that PS is the bisector of

ZQPR. If PQ = 12 cm, QS = 3 cm and
QR = 7 cm, then what is the length

of side PR?

APQR ¥, {4l QR WX S 39 UdR U
fig 8 f& PS £ZQPR @1 wHfgwo®
2| afe PQ = 12 |, Qs = 3 I il
QR = 7 | 8, A Hdl PR &I o413
T 2?2

(a) 18 cm (b) 14 cm

(c) 15 cm L(d-)/'.l(i cm
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If each of the two numbers 5!¢ and
5%° are divided by 6, the remainders

are Ri1 and R:2 respectively. What is

the value of Rll; - ?

afe cl =g 516 IR 525 F @
gdd &l 6 9 fawfora fear wmar 2,
dl 9Yhd HHI: R; 3R Rz © |

R, *R;, &1 919 1 27




